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FOUuNDATIONS OF ENGINEERING

7.l a5 d, (1 —>=5 3. ¢ i3
b.3 e. 3 W, 2
c.5 £.3 i3
7.2 a, 35¢,000 o, 584 ooo 9. 40gooa
b, 0,057 e 3360 h, 734,000
C. 0,.0600 {f. O, o¢s5¢
7% q. 39.4 x 34 =/33% — ;30
(3) (2) (2)
b. 39.4 ~ 34 = /7.58823 —> I 2.
(2 (2) (2)
1) ]
C. 344 A, 39.4
i Y
+ 3.4 ~ 3.4
428 2,.9
f 1
e, (o. 0i134)(5.58%0°)= 72.4772. —> 748
(3) (3) (3)
£ (248287 int)(F i) = 1724, 20528 Ft T 172422 £
(¢) (e2) (6)
3- (45,2 cm)( w / /00 cwa) = 4 52
3 (e°) {3)
¢
h, 34.7
- 450456
- 3456 = —/4,3
f
.3+ 7= -2, 04837 —> - Z
3 W o
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FouNpaTIonNs 0F ENGINEERING

73 i (0.00034)(48579) = /6.5/686 —> 17

Con't (2) (s) (z)
{
7. 4
- 345, 98¢#%

_732;3.984 —> —-3z9

Jo x*+3.4%x +3,982

X" .4)(5.4) = 88.4 —>38
) & 2)

34% = (3.4)(9.4) = 3,90 —> 32
(2.) (&) (2y

4
88.

4
+ 32,

4

+ 3,981

j]23.9% 2
1

v
k., 4.0508 x /0%
_ 498 xn?

0.8,32 x s073
T

— |24

(5) C‘f)

7.4 Fracﬁ'oua.{’_ /63 m ~138 m
Ercor T 138w

= O, I8

Ercov /38 m

+ P s ' o
Percen age _ /A3 339mx ook =181 A

. 8.9245 0% 16.932%0 % /,306,279 274 —¥ /, 306,000, 000

(<)

/. 306 )c/oq
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I o snantons oF ExcinvERiNegG

75 aq 2d=-ct

Jisf‘dﬂca—j L speed o f /a‘jL-&
'L_ (9) (3)
d= 5 - (1?? 792 QSS;XS 45 x /07 5,)
2 =577 m
(=) (3)
b, Fractione 003
o g - = 0.0087

¢
V\ceri'od.ti'j 3. 45 us

Perce»daje - 0,035

Uncenfuiu+j m—S'x 00% = 087 %

l. 86(‘40_5& e disfance aud time are {;nea,v-(ﬂ propec Honal
the fractional Uncertaiaty ¢percem{-ajg W Cerfaiuty

oxe Hw Sawe. This s shown iw The :r(or’{wmwj calculadion

e

d= 7t

ad = i— st
A uuce.rfa.iﬂf_lj
3
-.-g:!_?‘?l??z 458 T )(0.03 x/0 s) . 4 5m
2

Fractionad - Ad . 45m
UuCErf‘ﬂM*‘j ST m = 08,0087
Percentage _ ad 4.5 v 0% =0 27 %
Ume.r-f-mM:'j A x r00% = som X7 % ‘ °

d. ad =45 wm (see above Ca.lculaﬁov.ﬁ

c. Sgsf't'mu‘h'c.
No, the eccor n the speed of light is negligible

Compcureo( +to the uwcer'/‘aM‘ly of Hhe Time weasvromwen
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Founpations oF ENCINFERING

7.6 Trve Valve = 20573 in
Reported Value = 20573 cwm i = 0. 8077¢ in

2,54 Cw
CS) (=0} (5)
Fractiouad 2.0573 in - 00,8099 in
— =0 LOo6G3O

Ercor 2,"0573 M

Percemﬁjf’ 20573 in-0,80%5¢1
= 8 ' fl‘ﬁ“ [] C
S HX/OOA 560,6301/0

Error 20573 in
.t l 23 z3
7.7 Frackoed _ 16.0221295 x00*% ¢ 0221307 x00™ |
. - - 00000012
UHC&r‘f'ath (.022¢367 % 0?3

Peccen rLaJc - [6.0221255 ¢ r0%? -6.0221367% 0*?|
Uncertainty Cor213c7 x 0%

= 0.00012 s
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